Math Numbers Operations and Algebra 7_3

Date:

Student Name:

shirt = $14.99
pants = $27.00
Which value is negative?
sweater = $36.99

About how much $ in all?

A + A. $100.00
B. 0.05 B. $80.00
C. -5 C. $50.00
3 4,
40 ft
J
120 ft '*’
-4+14+7=__
D
Atree is 120 feet tall. Abe cuts 40 feet
off the top.
How tall is the tree now?
A. 100 ft. A. 17
B. 80 ft. B. 25

C. 160 ft. C.3



Dan swims 15 feet below water. Then
he swims 11.5 feet up. 126-202-47=__

Which shows this?

A -15+115 A. -28.1
B. 11.5x 15 B. -37.5
C. 11.5+15 C. -48.4
7 8.

8x-6= ~4+12+6=__
A. -48 A. 14
B. 48 B. 2

C. -14 C. 22



Estimate:
M6+-41=__
3,001 x 1.9
A. 7,000 A. 75
B. 3,000 B. 11.1
C. 6,000 C. -15.7
1. 12.
(5.8-79)+12=__ S5+6-(=3)=__
A. 99 A. 8
B. -1.7 B. 10

C. 14.1 C. 14



13.

Run Times
Runner [ Mile Time
Jeff 5.7
Nancy 5.2
Janet 5.3
Joe 5.4

1 .
Jeff runs > mile.

About how many minutes will he run?

15.

14.

07-15+03=__

A. -0.5
B. -0.8
C. 25

16.

-2(3+4+5)=

A. 22
B. -24
C. 24
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